spotieba tepla pro vytapéi GJ za rok

spotr | denostup | spotr |denostup| spotr |denostup| spotr |denostup| spotr |[denostup| spotr |denostup| spotr [denostup
pocet dnu| tepla GJ | ne zdroj | tepla GJ | ne zdroj | tepla GJ | ne zdroj | tepla GJ | ne zdroj | tepla GJ | ne zdroj | tepla GJ | ne zdroj | tepla GJ | ne zdroj
2010 PTAS 2011 PTAS 2012 PTAS 2013 PTAS 2014 PTAS 2015 PTAS 2016 PTAS
leden 31 528 720 479 592 412 547 384 616 312 568 316 539 310 601
unor 28 492 556 470 559 484 665 352 550 269 459 299 527 233 458
brezen 31 437 463 377 431 290 375 346 590 188 353 241 439 244 471
duben 30 258 287 193 219 230 288 156 288 111 169 166 276 151 314
kvéten 31 157 190 123 123 56 58 69 179 70 151 76 78 60 76
cerven 30 0 0 0 0 0 0 19 39 0 0
zari 30 188 198 0 0 86 74 54 127 41 38 29 89 29 33
fijen 31 306 374 252 300 257 343 150 292 158 203 174 308 172 343
listopad 30 341 419 363 480 306 413 240 430 226 391 194 354 200 350
prosinec 31 635 732 392 484 394 587 326 532 307 523 241 430 250 430
celkem 184 3342 3939 2 649 3 188 2515 3350 2 096 3643 1683 2 855 1736 3040 1649 3076
GJ/denostupen 0,85 0,83 0,75 0,58 0,59 0,57 0,54
&ervené ohad
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